SEEIE| v NO K2 757 % g44L | AL | B/ A
[ 186 BE K & BRE7A4b7LR 33.15 | fi 35
2 153 AN Big EE WY 35.22 IfiL | 35
3 178 =H ¥ T3 35.49 IfiL | 35
4 183 B BZ 2AT A 35.53 | 2M1 | 25
5 170 DS UNS KER 35.56 iz | 35
6 185 ER A 2HhT 4 36.43 i | 35
7 177 R MEE Jary 36.86 | 3Mi | 20
8 176 il = AT 4 37.51 4t | 16
q 156 NI :ES AR F—TLF 37.58 | 2fit | 25
10 171 FEER LT BRRRIARILUR 37.70 | 2fi | 25
| 161 LR ZE A7ERT 37.87 14 | 35
12 181 Ko K& Jany 38.02 | 511 | 14
13 | 47 BH - FARIRILILUR 38.20 14 | 35
| 4 157 RO IE# 2HT4 38.71 3L | 20
15 165 AEH E 2HT 4 39.15 | 2f1 | 25
16 167 T OEE 2AT A4 39.51 3 | 20
|7 172 vH Hi FARIRILILUR 39.80 | 3fu | 20
18 154 A IR =5 A 40.22 | 4 | 16
19 163 me % B RRRTAILUR 40.27 | 41 | 16
20 159 i R AER 40.28 | 5M1 | 14
21 168 Lk AME RER 40.83 | 5f1 | 14
22 173 TR Bz |[47EZT 4091 | 4 | 16
23 175 IRE &N KESZEPMN 41.22 Iz | 35
24 180 ATE fEA B RRRIARILUR 41.33 | 6fiL | 12
25 187 KRB KE FARIRILILUR 41.33 IfiL | 35
26 174 ik #E— AR F—TLR 41.57 | 2M1 | 25
27 182 T 5538 4177 | 74 | 10
28 |64 ER i 2HT 4 41.83 | 6l |12
29 150 B st 2AAT A 42.49 211 | 25
30 158 72k = FARIRILTILUR 4256 | 6fiL | 12




31 |44 Z5 WE BEURTYT 43.44 I | 35
32 151 2 BE AT 4 43,52 | 34 | 20
33 141 FiE 88 AN T4 43.69 | 241 | 25
34 169 KE Ex 2HT 4 43.71 7411 10
35 184 RH# FF ERREIAIILUR 44,66 | 21 | 25
36 160 IEFE HIT |[FARINLILUR 45.17 | 8fi 8
37 148 N FARIRILTILUR 45.36 | 4f | 16
38 145 e B— |ERREI7AMTILUFR 46.39 | 5M1 | 14
39 142 N BE FARIRILTILUR 46.42 | 31 | 20
40 143 B% % IRTY)—F AL 46.67 | 4 | 16
41 179 ®wrx B BRRRIARILUR 46.74 | 8fi 8
42 188 R¥F & AR F—TLR 46.76 | 2fiL | 25
43 146 NA 18 2HT4 48.13 | éfit | 12
44 162 AR = FARIRILTILUR 48.22 | 94 6
45 138 A EL BRRRIARILIR 48.68 | 5MiL | 14
46 152 BIE ImE 2HT 4 48.77 | M 10
47 155 BHE ZH BRREIARTILUR 49.70 | 811 8
48 166 RE & FARIRLILUR 50.38 | 10fi | 4
49 | 40 TR A ¥y HEI50— A 52.68 | 6fi | 12
50 149 Lo BEaA b AL~ 54.76 7ML 10
51 139 K &% FARINLTLUR 1'15.18] 742 | 10




